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STATISTICS
(Honours Generic/Regular)

Paper : STA-HG-1016/STA-RC-1016
(Statistical Methods)
Full Marks : 60
Time : Three hours

| The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct option/Answer the
 question of the following: (any seven)
i 1x7=7
% Tean! A% Thedl/wee fTEl e Tel
¢ (Rt ebh) |
{a) The geometric mean of 2, 4, 16 and 32
is . (Fill in the blank)

—

2 4, 16 SR 32 T BTG T (A7 1
(T} A2 97 F91)
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(b)

()

(d)

()

0

Mailed questionnaire method cannot be
adopted if the respondents are

(Fill in the blank)

mﬁcaﬁ—mwwﬁmaﬁamﬁ

State Newton’s forward interpolation
formula.

fACHRS ST SRz 7arst forei|

In a frequency distribution, the last
cumulative frequency is 100, then Qs
the third quartile must lie in

D! AAIS! Rorsma 7 (i e Qs
100 &, (SR TOF veds Aoy /7
Tq?

() 25th item (25 w©¥)

(i) S50th item (50 ©%)

(i) 75th item (759%)

(iv) - 100th item (100 ®%)

For a skewed distribution mean = 5,
median = 4, find the value of mode.
9D} RS 9B 911G = 5, T = 4 (O0 T
i Fef w4 |

What is coefficient of variation ?
e @ Wi e
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(9)

(h)

()

0)

(k)

1)
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If SD of x is 5, find the SD of 15x.

7 x 9 NE JHeW 5, (S 26 15x I T

 faperm Sfered|

State the advantage of coefficient of
variation over standard deviation.

gifis RoerR gere [bee SaIkFs Eﬁ&ﬁﬁﬁ
forall |

The arithmetic mean of n natural

numbers for 1 to n is
(Fill in the blank)

1 9 54l n @ n 5 FeiRS AU MG 2o
| (e A 999 )

Write down the formula of g, and f,.
By S By D! L
If in a series, 20% values are greater

than 75, then = 75.
: - (Fill in the blank)

I @Bl (ATE 20% W 75 OF TG W,
o ___ =75 (afrﬁéfr?vﬁ‘raﬁv

Quadratic mean is preferred most, if
the data set contains some
number. (Fill in the blank)

Data set © &g ¢yt Qifeee faEre
KB @B AMETS AT (T A2 7999 P9)
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(/) What do you mean by numerical

0. Answer any four of the following questions : integration ? Write the formula of

Ix4=8 Simpson’s 3/8th rule. .
: TR SEpa I 6 el 2 Heevea 3/8
weTs Rl Rl bifas! e Ted B ¢ : | ki 3/
¥ IaCs! T |
(a) Define interpolation. i (g9 What do you mean by primary and

secondary data ?

S Hges!
L A o (Nd ©2y IETE G o e

(b} Describe a.ny one diagram used for () Write one advantage and one
representation of statistical data. disadvantage of standard deviation.
SRS W alfeffEes I TS R i vema B kAl S 95 SRl T

57 3 Ak T | 41 |

(c) Derive an expression for a measure of

A ; 3. Answer any three questions of the
association between two attributes. | y o

following : ; 5x3=15
WOl @dq oo 46 ALGY GRIAEA WG Hd woi [zl fofor e Ted ol ¢

GO eI SRredt | _
by dividing the

10
(a) Calculate [,

(d) Write down one merit and one demerit L+x |
of mode. , range into eight.equal parts.
T G5 B WS @5 (A B ; .[10 X et SIS A SisTe ool
2 1o _
(e) Find the value of : (W TENSA 9) 4 T Tfered |
A et
—|e" x
E : E ex ; : ‘
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(b) Define any two measures of dispersion. (g) Given that : (Fral SR 8)

Vet 2%s=5 _
. R 75 el Mo 39k 4 FO)+ @)+ f(3)=
fl4)=

(c) Write a note on skewness and kurtosis.
f(5)+ £(6)=113

SELE 'Wwa—mmaﬁfsﬁm

for=0 | .
' Estimate the value of f(10).
(d) Given : (Wl iR ) S .
_ l £(10) F W= Bferea|

10 '

ZU = 500426 ZU = 329240 R (h) State and prove Newton’s backward

interpolation formula.

1o 15 _ WWWWWWWWQWI

;Ux =175212 and U,, = 40365 .
4. Answer any three of the followmg
10x3=30

Find U,. (¥ Sfedr o)

(e) If U,=a+bx+cx?, prove that : (&9
: (@ (i) Explain how median can be

Mg
' obtained graphically from ogive
i ‘ e : :
J‘l U dx = 2U, +_1_15 (00 e and histogram. _ 4
. ' sfile wie FEHTT FATS GIRG Ao
() Discuss Newton-Raphson method. | S| (A e SIRE AR TR ==

(G-I smRecs! 5t <541 | : (i) Draw the ogives for the following
distribution showing the number

of marks of 106 students in a -
particular subject : 6
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106 &« QU2 9o T (AR TETR
IR e A SRR IS | I

Marks =~ : 0-5 5-10 10-15 15-20 20-30 30-50 50-70
No. of students: 5 10 26 20 18 08
(b) (i) Given the following ultimate class

frequencies, find the frequencies
of positive class : : 5

PO (AT AR R SR

AP e ot
(ABC)=149 (ABy)=738 (ABC)=225
(ABr)=1196 (aBC)=204 (aBy)=1762
(@BC)=171 (afy)=21,842
(i) Find the remaining class

frequencies, given the following
data: 1.9

AT 2l (T IR T 4 ¢
N =23,713 (A)=1618 (B)=2015
(€)=770 (AB)=587 (AC)=428
(BC)=335 (ABC)=156

(c) (i) If the two lines of regression are
x:—l——y+9, y=4x+16 and

64 .

V(x) =4
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(c)

(1)

(1)

(a) find the correlation coefficient
between x and y

(b) the mean values of x and y

(c) standard deviation of y :
: il Plo

T eE AR (99 x=glzy+9,
y=4x+16 o V(x)=4

I Sl

() x O y I e FPTHH SR
(b) x 9% y I |G

(c) y@WﬁW

Prove that cOrrelatioﬁ coefficient
is the geometric mean of regression
coefficients. 4

oislel T (1 FTIF QARE (2R YOI
el sselieRd Sreles W4 |

Given the values : ([l SIFCIRE M &)
oD el 020 0 ER S 0.4
Hiow e 095 1179 1251 1.810

Construct the table of divided -

difference. 6
Folftre wiead W Sifeisl 2Fe 9 |
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(i) Define multiple and -partial
correlation. — : 4

32 FERA O SRS IRRey AR

ol |

(e) (i) Define standard deviation. How is

- it affected if every observation is

(i) multiplied by, a constant m and

(i) increased by n ? - 1+4=5

e e el frn Tt afSTo!

AT NS (1) &7F m & 5994 SN F

e (i) n @ IAGR W, (9T T
e (@SSRS 292

(i) State Lagrange’s interpolation

* formula. With the help. of this
formula prove that '

uy = uy—0.3(ug —uy) +0.2(ug-usg) -

I+4=5

e Al f1dl| 92 FAoR TRTS
RGeS e
u = uy-0.3(ug-u_g) + 0.‘2(u_3 i)

(f) (i) Prove any one of the propertiés of
multiple correlation coefficient.

T QAR RCPIT 57 < il <+ |
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(ii) Show that : -7 =l ' )
@eq @ 8 —|<r <.
(iii) Find the value : (T Tfereai g) 3

A x" (n > r)
(g @) Estimate the missing terms in the
following data : S

5@ S e 4 S

¢ 1975 1980 1985 1990 1995 2000 2005
U oooEEE o0 - 38U S0

(i) 1f n; and np are the sizes, G and

: G, the geometric means of two
series respectively, prove that the’
geometric mean G of the combined
series is given by :

n,log G, +ny log G, ' >
n, +ny

logG:[

ﬁ@nlmwmw,cqm(}g
(202 B! (RTR STATGT ) A | (T3
ool T (X IS (WA Wit MG G

oo Tl 4@ S IR A 8 :

log e [nl log G1 + 1y log GQ)
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(h) () The geometric mean of 10
observations on a certain variable
‘'was calculated as 16.2. It was later
discovered that one of the
observations was wrongly recorded
as 12.9; in fact it was 21.9. Apply
appropriate correction and calculate
the correct geometric mean. )

95l BETS GFC T 105] SRR
STATET &g 21 SR oA CoifesT 16.21
s wifais =1 e @ @bl sl
TEF 12.9 T2pitel (396 <51 Cafeet eigpers
T 9IfReT 21.9 | Toige AL 2] w4
YR AT TG Wy ST 9 |

(@) The first of the two samples has
100 'items with mean 15 and
standard deviation 3. If the whole
group has 250 items with mean
15.6 and standard deviation

J13.44 , find the standard deviation
of the second group. :

WOl AN fese ®LNhe 1003‘1311?@
IR I 4 (R 15 R Mo Koo
(2= 31 3 354 (aiiBe 250 R e
R T MY T 15.6 S T [pei
2 413.44 , C‘C@fﬁﬂ%ﬁrﬁzw
%Wﬁﬂ‘zrw4 :
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